JJ-1204

B.Com, (Part - 17)
Term End Examination, 2019

Group - A
Paper - 11

Cost Accounting

Time : Three Hours] [Maximum Marks - 75
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Note : Answer all questions. All questions carry equal
marks.
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Explain the objects and benefits of Cost
Accounts. What are its demerits ?
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1 99 | 450 [2.20 10 400

S 3 500 |2.10 15 200

12 9 350 (2.40 18 300

20 %9 300 |2.25 25 350

Show the following information in Stores

Ledger regarding certain materials if ‘HIFO®

system is followed :

Receipts [ssue

Date Date
April, 2018 Units | Rate [April, 2018| Units
1 Balance | 450 [2.20 10 400
5 Purchase | 500 |2.10 15 200
12 Purchase | 350 [ 2.40 18 300
20 Purchase | 300 | 2.25 25 350

109 JDB_* (14)

(Continued)

Scanned with CamScanner



(3)
T3 / Unit-11

2. WOTeHE WSl qmam ugfaal a-a
o 7 I ¥ e fm ow dem &
HHFATET |

wt

What are the main incentive wage payment

methods ? Explain any three of them in
brief.
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A company is managing four operating

departments. 4, B and C are production
departments and D is service department.

Other particulars

are as under :

(%) )
Rent 5,000 [Power 4.500
Repairs 4,000 [Supervision 7,500
Depreciation | 2,250 [Employer’s liability
Light 600 |for insurance 750
Fire Insurance
(Stock) 2,500
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The following informations are available in
respect of the four departments :

Departments

A B (% D

Area (sq. meter) 1500 | 1100 900 | 500
No. of Employees| 40 30 20 10
Total wages (%) 18,000 112,000 | 9,000 6,000
Value of Plant (3)| 8,000 6,000 | 4,000 {2,000
Value of Stock (¥)| 3.000 1,800 1,200 | -
Selecting the most appropriate  basis,

apportion various items of cost amongst the

various departments
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Messers Raja Traders manufactures three
types of fans — table fan, ceiling fan and
cooler. The materials and wages cost are

as under :

Materials Wages

(%) (%)

Table fan - 60 80
Ceiling fan : 100 100
Cooler 900 250

His total factory overheads for the month
of August, 2018 was ¥ 1,00,000. You are
asked to determine the factory cost of each

type of fan assuming that one ceiling fan
is equivalent to two table fans and one
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cooler is equivalent to five table fans for
the purpose of overheads allocation. The
production in the month of August, 2018

was 1000 table fans, 500 ceiling fans and
100 coolers.
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Following particulars relate to contract
No. 555
(%) (7)
Materials 40,000] Wages 50,000
Indirect Plant specially
expenses 15,000] for contract
Work (subject to
certified 1,20,000[ depreciation
Materials (@ 10%) 50,000
at the end Work uncertified| 60,000
of the year 11,000( Plant at the end | 43,000
Cash received Materials
from contractee|1,00,000] returned to
the stores 2,000
Prepare Contract Account and Work-in-

Progress Account assuming that the contract
price was ¥ 3,50,000.
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The product of a manufacturing concern
passes through two processes 4 and B and
then reached to finished stock. It is
ascertained on the basis of past experience
that in each process 2% of the total weight
is lost and 10% become scrap on which from
the process 4 and B realise ¥ 100 per kg
and T 150 per kg respectively. The
particulars of process are as follows:
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Process-A Process-B

Materials

consumed (in kg) 1000 70
Cost of material (per kg) 7120 ¥ 200
Wages ¥ 17,500 | ¥ 10,000

Manufacturing Expenses| ¥ 5,380 | ¥ 5,342

Prepare process accounts showing the cost
of the output of each process and the cost
per unit.
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From the following particulars, calculate the

operating cost per passenger km and per
km of bus:

A bus covers a distance of 15km between
two cities on an average. It does not remain
on road for five days in a month. It takes
5 round trips each day. Its capacity is of
50 passengers and on average 80% of the

‘seats remain full :
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Driver’s salary per month ¥ 300
Salary of conductor and

cleaners per month 7 500
Petrol etc. per month 7 3,500
Cost ¥ 80,000
Estimated life 5 years
Insaurance, tax etc. p.a. T 3,500
Repairs and renewals p.a. T 4,000
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State the reason for disagreement between

the costing and financial results. Prepare an
imaginary Reconciliation Statement.
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IEED] e | 8,00,000

(-) yftadeied =g 6,00,000
HIEH 2,00,000

g (-) TRt arme 60,000
qAS < 1,40,000

From the following find out :

(a) Break-even Point

(b) Profit on the sale of ¥ 10,00,000
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